l@ Very Sort Apawer Toppe Questions s

What is organising?

: i itie
A"S- Organising is a process of defining and grouping activitl
among them.

nd establishing authority relati.
sa

2. What is the aim of an organisation? cach other and to work toge%
Ans. The aim of an organisation is to enable people to relate to
common purpose. s of which functlo,,.
3. “ Identifying and Grouping activities” is a step in h€ ‘
management

ess of one of 8
in the prOC |
or “Identifying and dividing the work’ is the first step

functions of management. Identify the function.
Ans. Organising function of management.

Lt
‘;51!3"4“\2&:‘

mplishmem
ces for acco
4. Which function of management manages various resour 0

objectives?

-ordinat
or Name the function of management which co ;Jr:s ‘5
human resources and establishes productive relatio
of specific goals.

Ans. Organising function of management.

ial
the physical, financ
isng them for the achlevemq

is the second
d departments
5. ‘Grouping similar nature jobs into large units calle Il; o thd RN

in the process of one of the functions of management.
24, : 4
Ans. Organising function of managemen
ing.
6. State two points that highlight the importance of O.I'ganis.al'gaﬁon
(i) It leads to systematic allocation of jobs, which results in specialis :

(ii) It leads to optimum utilisation of resources.




Organising

How dose aorgonising lead 1o specialteati
“wn

Organising lpm:« r;'u svstemabic allocation of wirk ATt th ' R ¢
ar task allows a worker fo % b thve performancs
ticul i whet to gain “xparience in that aves rm':l y! t;,,,,k X r -
wence, s tey specinlisstion

A ]\‘!l
o objectives of organising.

(;f(‘l’ anv fu

) Coord inates human efforts
(!
i) Assembles resources

(
os0 JOU would say organising establishes clarity in worki dests
o orking relations?

H
t of working relationship clarifies li
i r;fathhme” : 10 ; S lines of communi who
1;\’0“ o whom. In this way, organising establishes clarity in worklng:tl:sc:?o:: i e
rej :
ss O organising allows a business ente
- proce ‘;‘? f rprise to accommodate changes”

Dn ‘UOU ggr(’ A .
vos, it allows the organisation structure to suitably modify and adapt to changes
H:! prganising helps in growth and diversification of an enterprise?
o ) . . fe .
he growth and diversification of an enterprise by enabling it to deviate from

ing helps in t
ﬂsz:glngrms and taking up new challenges.
o the process of grouping the activities of similar nature?
Namé

Depamnentalisation.
Which is the last step int
Establishing reporting relations
On what pasis can departm
Jt can be done on the basis of fu

Define organisation structure.

[t can be defined as the framework within which managerial and operating tasks are performed.
Which type of relationship is
It specifies the relationship between

he process of organising?

hips.

entalisation be done?

nctions, products, geographical territory etc.

shown by the organisation structure?
people, work and resources.

ure is important?

Why proper organisation struct
mmunication and better control over the operations of a

It is important for smooth flow of co
business enterprise.
What are the types of organisation structure?

(i) Functional structure.
(i) Divisional structure
Which term denotes “the number of subordin
ates that
i can be effectively managed by
Span of Management.
What determines the
number of levels of man
ot o f agement in the organisation structure?
Give an
e, Z ;i': feature of an ideal organisation structure
decn um utilisation of res :
ources i
and smooth achievement of organisational goals.




Name two forms of organisational structures:

22
Ans. (i) FRunctional structure.
(i) Divisional structure. ey
Sructu
23. What do you mean by the term functlmml str U.C IS med by grouping jobs gn, the |
Ans. A functional structure is an organisational design whic
of their similarity. Jated jobs together 3
24. Which organisational structure keeps L sl s i
unit?
Ans. Functional structure. h degree of speci K |
25. Which type of isational structure IS suitable for high cegr o 2
- of organisa 4
Ans. Functional structure. f
| structures. 4

26. Give any one advantage of functiona
sales, purchase and

Ans. Promotes control and coordination.
0
27. Red.Ltd. is manufacturing }uices ia,:;:fnﬁlrstructure S vou suggess i
1 |
departments. Which type of 0rga" |
Ans. Functional structure.
2; Which type of organisation structure is suitable for single product line firm?
- IC. o :
Ans. Functional structure is suitable for single product line firm.
: ted more to the large organisations.

29. Which type of structure sui

Ans. Divisional structure. .
1 tructure: ;

is the key feature of divisional s ; : g

= - L omprises of separate business units or division,

Ans. A key feature of divisional structures is that it ¢
31. What type of organisation structure is suitable for multi product firm?
Ans. Divisional structure would be suitable for multi-product firm.
32. Give two merits of divisional structure.
(i) Product Specialisation

Ans.
(ii) Growth and expansion.
33. Which organisation structure facilitates better growth and expansion?

Ans. Divisional structure facilitates better growth and expansion?

34. State one disadvantage of divisional structure.
Ans. [t leads to generate conflicts among different divisions.
35. Which organisational structure promotes better coordination?,

Ans. Divisional structure.
36. Where is the divisional structure most suitable?
Ans. Where a large variety of products are to be manufactured efficiently using a vast ;{-L

resources.



Orananising

Jeot Impex 1 td. ie manufacturt .

+f .w.wnhnlhmnl sirocture w "# chemicals, wooden furntture and sh

of o would sult the regulrementa of h 5 il
of such orgonisation?

m\.igmn.\l shucture

Define formal orgonisation.
acconding to Louls Allen, “Formal organisation is a system of well-defined jobs each beari
: oll- jobs,each bearing A

Jefinite measure of authority,responsibility and accountability’’
Name & he tVpe of organisation in which official relallmuhlbg exits among the monage
N g r re

rormal mpanisation.
Wwrite anv one feature of formal organisation.

W],b,orarely designed by the top management.
Why Is ¥ easv o fix responsibility in a formal organisation?
Recause rules & responsibilities as well as inter relationships among different job pos

verv clear.
what is the wature of formal organisation?

Rigid.

Define informa
According O keith
established or requi

with one another.
Write any one limitation of Informal organisation.
r restrict growth of formal organisation.

_ Resistance to change by its member may delay o
 Which network of interaction facilitates emotional and mutual objectives to be fulfilled

in an organisation.

_ Informal organisation.
Name the type of organisation which does not have predetermined objectives

itions are

| organisation.
“Informal organisation is a network of personal and social relations not

Dawis,
mal organisation but arising spontaneously as people associate

red by the for

Informal organisation.
Name the type of organisation in which friendly relationships exist among the managers

- Informal organisation.
. Di
ifferentiate between formal and informal organisation on the basis of nature

- Formal organisation is rigid i
is rigid in nature while inf i
¥ ormal organisation i
(::e';"fv the type of organisation, if. : ek 1.4
ti :

SE ls deliberately created by the top management

s unplanned and a :
' rises spontan
:l) Formal organisation, Soted
;)ﬁlnforma] Organisation
* Yefine del, :

egation of authority.

; A‘COOrdin
gto Th ;
SUbordinate, €0 Haimann “p i
S t ele H
O Operate within pres?:erlitl])zrc; ;i:;lgloﬂty merely meansthoIng ofisuthedty o



57 Name the process of granting authority (o subordinates to op .
” erate y,,

thy,

n o

fermitm
Delegation of authority,

Ans
F. 34 What Is accountability?
Accountability implies being answerable for the final outcome of the assigned
task b,

Name the concept which reduces the work load of manager.

Anws
59
Ans
5d

Delegation of authority reduces the workload of a manager.
Wheat would be the impact on working of an organisation, if the r,

than the authority?
In such a situation, it would be difficult for an individ
' ( ual to perform the r,
eSponsib;

Ans
List two benefit of delegation of authority.

55
Ans. (i) Effective management
(ii) Motivation of employees.

56. What are the elements of delegation of authority?

Ans. (i) Authority
(ii) Responsibility
(iii) Accountability
57. Which of the following is an ideal situation ?

(i) Authority = Responsibility
(if) Authority > Responsibility
(iif) Authority< Responsibility
Ans. Authority=Responsibility is the ideal situati
58. Name the term used for downward tran
subordinate.
Ans. Delegation of Authority.
59 Afetr delegating the authority,
task.
Ans. Yes, beca
60. Name the
activities to the

Ans. Resposibility.
61. In which direction dose responsibility flow?

Ans. It flows upward from subordinates to superiors.
62. What do you mean by decentralisation?

Ans. It refers to systematic efforts to delegate to the lower level all authorities except those whi

to be exercised at central points only. ,

igher le

63. Name the concept, which means systematic reservation of authority at h

on in an organisation.
sfer of a authority from a supe

accountable for the ass

dose a manager still remain

cation of accountability. A
jon of a subordinate to carry out ¢

pi¥

use delegation does not mean abdi

term used for denoting ‘Obligat
pest of this abilities’.

of management.



AnS

An®

65
Ans
Ho

Ans

Centralisation.
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ecentralisa o7e s some ¢
alisation control by th
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q company should
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: lised o
r decentral
ined

STRLL
Growing ~ompany should adopt decent
S : | decentralis
oncept which me ed poll
cans ey
Ispersal of decisi
on-makin
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throughout
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